Name: __________________________________________  Date: ______________________  Period: ______

Appendicular Skeleton
Identify the bones found in each location:

1. Shoulder girdle consists of two bones: _____________________ and __________________.
2. Upper arm: ________________________
3. Forearm: _______________________ and _____________________
4. Hand: ______________________, ________________________, and __________________.
5. Pelvis consists of two ______________________ bones, or hip bones.  Each hip bone is formed from three bones fused together, the _____________________, ___________________, and _____________________.  The _________________________ is a cartilaginous joint between the two hip bones.
6. The pelvis has two regions:

a. The ___________________________ is superior; the flaring portion of the iliac.

b. The ___________________________ is inferior.

7. Differences between male and female pelvis:

8. Why is there a difference between the male and female pelvis? _____________________

9. Thigh: __________________________
10. Lower leg: ___________________________

11. Kneecap: ________________________

12. Foot: ___________________, ____________________, and _____________________

